The Open University of Sri Lanka
Advance Certificates in Science
CMF 1502 / CYF 2516 ~ Final Examination Chemistry- 2 — 2020/2021
PDuration: (03) Three hours

Date : Tuesday, 14™ December 2021 Time: 9.30 am - 12.30 pm

Instruction to Candidates

» This paper consists of two parts -Part - I (25 MCQ) and Part -II (6 essay type
questions).

» The use of non-programmable electronic calculator is permitted.

» Mobile phones and other electronic devices are totally prohibited. Please leave them
outside

Part-1
Recommended time to complete the Part -1 is - 1 hour.
Answer All questions
Choose the most correct answer to each question and mark a cross ‘X’ over the
answer on the answer sheet.
Any answer with more than one cross will not be counted.
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Part-11
Consist of 06(six) essay type questions in three sections (A, B and C).
Answer only four (04) questions out of six.
Answer at least 01(One) question from each section (A, B and C)
1f more than 04(Four) question are answered, only the first 04 (Four) will be
marked.
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6.63x107 J s
Velocity of light C = 3x10°ms?
Avogadro constant L. =  6.023 x 10 mol”

Planck’s constant h

1 atmesphere = 760 torr=10° N m™
Gas constant R = 8314 JK ' mol™
In, = 2.303 logie

Relative Atomic Mass: H-1, C-12, N-14, O-16, Na—-23, Al-27, S-32, C1-35.5,
K -39, Fe-56, Ag- 108
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PART I
ugd T

Answer All Questions
SimarsEl slarssepbGid el weallsgs

01.

02.

03.

04.

05.

The hybridization of the carbon atoms in CH,=CH; and the bond angle H-C=C are
CH,=CH; 860 smusi siemeler seotng wipib, H-C=C @& Deneminyhs Garemib,

(1) sp*, 180° (2) sp*, 160°
(4) sp*, 120° (5) sp°, 109°

Give the correct geometry of the molecule shown below.

FBp HILLIN L ApsdSIalsst Ffumen engehHoms HiHE,

O
H/ \H

(1) Linear / Gy Gasn(H (2) Tetrahedral / preiigpas

(4) Trigonal planer / @sn (pa&Gones

Give the IUPAC name for the following molecule.
1eiteumin apsudbampiien IUPAC Quwieny s,

Y

NH, Br

(1) 4-bromo-2-aminohexanol
(2) 3-chloro-2-aminohexanol
(3) 2-bromo-4-aminohexanol
(4) 4-amino-2-bromopentanol
(5) 2-amino-4-bromopentanol

Which of the following intermediate is most stable?
NefTeugpld ool Blemeomemsy 2 _mid Falguigt a1gi?
(1) Primary carbocation / (pgeitento srGUTSHILIeN
(2) Tertiary carbocation / tyem_  &TGLITSHHBLEHT

(3) Secondary carbocation / guenemr &rGUTBHMU T
(4) Methy! carbocation / iSsnaet SrGUTEHMWLIET
(5) None of the above / Giofggilul  s1ge 06D

What is the C=C bond length [in A] of an alkene?
apdaisy C=C @it emewniy Bembd wag [A @ev]?
(1) 1.54 (2) 134

(4) 1.49 (5) 1.79

(3) sp, 180°

(3) Octahedral / aei(pad
(5) Bent / Gmmentsd

(3) 1.20




06.

07.

08.

09.

10.

11.

Which of the following compound has the lowest boiling point?

Teiouapid Bojamasalicd genmbd ETHBM 2 LW agh’

(1) ethane / e1@aeir (2) 2-methylbutane (3) pentane / GLisnBL s
(4) propane / LypiBuisit (5) 2-methylpropane

What do you expect to observe when AgNO; is added CHeC==CH 10?

CHC==CH @iy, AgNO; g CFieGD Curgl CuBlILGL SBUSTENOTS aRTLITTSSS
FalglUF 6187 .

(1) Brown color solution / &tie Hlp SHeangasd

(2) Formation of a white precipitate / Gsusitensn Bl efipLugeils © eurdssmid

(3) Formation of a brown precipitate / stiee gln efipingefisst © (houndeld

(4) Evolution of a gas / sumyeflsit GensfGuibmtd

{5) Red color solution / ey Bim Heora60

The concentration of sodium chloride (NaCl) solution is 0.0117 mol dm™, what is the
concentration of NaCl solution in ST units?

Brrpuwid @Cemmengl & (NaCl) senyoedssr QFiiey 0.0117 mol dm® syew. NaCl
sanrgalsr Genlsnsy SI swodlsh Hams,

(1)0.117 (2) 0.585 (3) 1.17

(4)11.7 (5)1.17 x 10°

The chemical formula of hypo-phosphorous acid is,
snamUBUT-GLITFLTE SHfe0HH 6 @TFTUF GHHFD wWrg?

(1) HPO, (2) H;PO, (3) H,PO;
(4) H:PO4 (5) H2PO2

The volume of 11.5 wol dm™ HCI solution required to prepare 10.0 dm® from a 0.23
mol dm™ HCI aqueous solution is :
11.5 mol dm”® HCl sogesdsd @b, 0.23 mol dn” HCl @er 10.0 dm’® g

HUTHES CHenaITer HaTeH6TeY WITHI?
(1} 100.0 ¢’ (2)230.0 cm” (3) 1000.0 em®
(4) 115.0 cm® (5) 200.0 cm’

Which of the following will occupy a volume of 1.12 1. at STP?
Nemapeusaenpmicd eiml, STP @sb 1.12 L soncusnensy ooL-Hoib Gismsiiemld,
(1) 0.5 moles of nitrogen gas / 0.5 apsbamsit owbEHIFe sumy

(2)3.01 x 10* nitrogen atoms / 3.01 x 10*! eomsyas oigmbssi

(3) 3.01 % 10% nitrogen molecules / 3.01 x 10% snpsrasr apevsbdagimsi

(4) 2 g of hydrogen gas /2 g sarFar sumy

(5) 3.01 x 10*! hydrogen atoms / 3.01 x 10% mayeer oigmsbssi




12,

13,

4.

15.

16.

17.

What is the K, value of monobasic acid [in mol dm™]? The pK, of this monobasic acid
is3.5.

@m dape subsugkslst pK, Gumuomer: 3.5 o, Bbs @ ape sfleugdear K,
Gumpiorsnd wiig? [in mol dm™]

(1)7.5 x 107 (2)3.16 x 107 (3)2.5 x 107

(4)3.16 x 10° (5)3.16 x 107

How many moles of Ca(OF), would be needed to prepare 500 cm” of a 0.720 mol dm™
solution _

Ca(OH), @ei1 500 cm’, 0.720 mol dm” seogson sWliLSHE Ca(OH), @sn
aTHEHMAT ApeubaT CHemeiBin? :
(1)0.018 (2) 0.375 (3)0.288

(4)0.360 ' (5)0.180

Which of the following change will shift the reaction in the forward direction?
Heiteu@plp waHmRisaise, &g STHEHAm (PHLUSE HenFulsd BETHHIDT
Ig(g) - I(g} AHO =+150 kj

(1) Increase in concentration of 1/1 @eir Gapflensy S18EFHH60

 (2) Increase in total pressure / QnsHs NWEBEHMHE NH&fEHEH60

(3) Decrease in concentration of I / I; @eir Gonilene @GenmHoHed
(4) Increase in temperature / Geulniflenaenil HBHRSHH60
(5) Decrease in temperature / Qe LBH®06mL1 GODHSHE

Three moles of PClsg, three moles of PClag) and two moles of chlorine gas are kept in
a closed vessel. At equilibrium if the number of moles of PClg(g) is 1.5, what is the
number of moles of PCly g, present in it. '

ol Qarsiimevstt gsfiaen apsiiml apsbmeit PClsg), apsiimi apedssit PClyy, wbmpnb
Bm apsosell  GOsnmfladr  eumly  Sidlwen  svaubsLL Beitenen.  Foleneouller  GLirg

sremlii@l PClsg, @et apsvmsit 1.5 ouisr, Ost@gulss srsmiiLLdomg PCls
Ghett ctpsv eremdlenllBems WITSHI?

(1) 8 (2)4.5 (3)2.1
(4) 10 (5)3.0

The conjugate base of OH is,

OH & @evemicpeotd wiTg)?

() H0 (2) 0% 3) O
40, (5) Ha

What is the pK, value of acetic acid? The K, of acetic acid is 1.76 » 10™ mol dm>
siFpisednsder K, Gumiorend 1.76 x 107° mol dm™ sy@ib. N e 16160 g 35 61
pKa Qupnorsmb wingi?

(1)3.75 (2)4.75 (3)5.75

(4) 1.75 OER




18. Consider the equilibrium reaction given below
HBp S Hsien FICHMs0d HTHHHMBS HHHD.

CH;COOHg + CHiOHy <«+—— CILCOOCH;q + HO
The unit for equilibrium constant K is
siofdeney wrfled Ko @ owpog wng?
(1) mol® dm™® (2) mol dm™® (3) mol? dm™
(4) mol? dm™® (5) No units / oieo@sst Gsosmso

Question 19 and 21 based on following
19 pmed 21 ausnpwmen eflemdss Lifaihd SEaM SMPLLMLUITE GETHL_mel.

500.0 cm® of CaC,Q4 solution would be prepared by using pure solid CaC,O4 The
concentration of CaC,0, solution is 0.05 mol dm>. 30.0 cm® of CaC,04 were titrated with
0.02 mo! dm™ KMnOs solution.

CaCy0s @t mmu: Hemosdener  LtaniBshs, CaC0y @er 5000 cm’ HEDI 6D
surfesiurLg.  CaCy0y sopselear  Gadey 0.05 mol dm®  sy@w. @& CaCy04
sangaeist 30.0 cm’ syeng 0.02 mol dm™ KMnQy semrsed apsoons munfldmsin L gl

19. How many grams of CaC,Oy4 1s required to prepare 500.0 cm’ of the above solution?
BoBey samiin L 500.0 cm® mengaedenan HLNINLGHE, sibmeman Hymbsar CaCyOy

Caxemanl LIBID?
(1)0.32 (2)3.20 (3)1.28

(4) 6.40 (5)0.64

20. Which of the following indicators can be used for the above titration?
LNersugmeusmenmmisi, GoGs0 smmin L HnANIhe LSTLUESSSHL STly asbi?
(1) Methyl orange / 1fenss0  GFbioghaed o
(2) Bromothymol blue / 1i8yr@ionengBloned  Heoib
(3) Phenolphthalein / 19@sriigeSein '
(4) Self Indicator / sw &Hm ig
(5) Methyl red / (fenmsd  flewiiy

21. How many milliliters of KMn04 is required for the above titration?
BwBe0 gapUUll Bwuinibe adhamsn wesvsdedBmy KMnO,; GsemeuOuGn?
(1y7s5 (2)15.0 (3)22.5
(4y30.0 (5)60.0

Question 22and 23 based on the followings
22 wipub 23 du slembssst Jeaupd HEanNey DQUUMEULITE BTN el
25.0 cm’ of 0.02 mol din”® [L,SOy solution is added to titrate 0.02 mol dm™ KOH solution.

0.02 mol dm” H;80; mewyosden 25.0 cm’ e, 0.02 mol dm® KOH sempsma
B iUEhETs GFEFHEILI SI.




22.

23.

24,

25,

What is the pH of the initial H,SO, solution?

ol HpSOs smempoedesr pH wirgy?

(1)2.0 (2)2.4 3)64
414 (5)7.0

What is the volume [in cm’] of KOH required for neutralization of the above acid?
Cumsamiin L sifosms sEHoeourss Csmatiugd KOH @st s [om’
@sv|. wirg?

(1)25.0 : (2y500 3)75.0

(4)100.0 (5)110.0

A student prepared a 0.03 mol dm solution using 75.0 ¢m” volume of the solution with
concentration 0.080 mol dm™. What is the final volume [in dm’] of the resultant
solution?

0.080 mol dm™ QE{ﬁ]GI]&D}LLLI @7 sopFedsr 75.0 cm’ g ummu@g’,gﬁi LT GO GHGHT
g@meust  0.03 mol dm™ HMIF0  SWTFHEHTe.  elmena)bEmTaalst  Rmpids
semeustiey [dm® @sv] wmg?

(1) 0.150 (2)0.750 (3) 0.200
(4) 0.150 (5)0.030

What is the amount [in mol dm™] of [H'] produced by 0.1 mol dm™ et:hanmc acid
solution? The K., of ethanoic acid is 1.96 x 10” mol dm™.

0.1 mol dm™ srg,(%stmruﬁlaa SiIe0  HBEFFENHT  APEOLOTS .L@ﬁ)BTEE\UL]l_eB%LQU_I [H" ]
@ett oo [mol dm” @] wis? astamuls subssdda K, 1.96 x 10° mot dm™
UG

(1) 1.4 x 107 (2) 1.4 x 107 (3)1.96 x 107

(4) 1.9 x 107 (5)1.6 x 10°




Part II
uggd 11

Section — A (Answer at least 01 (one) of the following questions)
UGl — A (Deeumd alemasaisd @onbosl aemfinCoaibd el wefsGs.)

01.

a)

b)

d)

02.

Draw the cis and trans isomers of the following compound and give their TUPAC
names,
Hareumb Goleaniar doabd  HEID  ITEe0  FDLGSIBIGBT alenyes.  LOHMID
seuimien [UPAC Quuifsemen Sme.
CHBr=CHCH;
(20 Marks)

Give the hybridization of each carbon of the following molecule.
LN&ToHmD clpsudbampied smen LB @eilane STuslargild seolnlener H(hHs.
(10 Marks)

Consider the following reaction for the chlorination of methane. Give the major steps of
this chemical reaction and the chemical reactions at each step.

Bepalar  GCmmfiGabmsdHiomen  &STLEGD Uasumd SIEESHORT  SHSIS. Bl
Borne  STHEESHET  Ligsnen  Ligdbamenujd, gelbleum(m  Liguligond  HenL-GlLmib
BremUa HTHEHISEEMD H(HS. ~

light

CH, +Cl, CH;C1  +HCL

- (40 Marks)

Name the three major intermediates of carbon in organic reactions.
Corgan srasmisaisd, smuellsr apam LTsTor S Henasenst QLILITIBS.

(15 Marks)

What are the properties of Carbon which make it a special element in the periodic table?
SIS S L auenariuilst STUMET g SHellboaoTeT peusDTE ST (B, Srticlie
LI6ITL|66TT  6reneu?

(15 Marks)

An organic compound contains C, H, and O only. It contains 49.31% of C and 6.9% H.
@ Gogsenr Gofemen gem C, H, wommbd O gdusimsns  worsHréwn
CEmemGeiang, S 49.31% C oppid 6.9% H s GaresBsiteng.
(C=120,H=101,0=16.0)

i. Calculate the percentage of oxygen in this compound.

BFGarmeuusd srewiiLBd U AFallsr FHaldsdhma Senlogs.
1i. Calculate the empirical formula of this compound.

BiBoamaiulal SEDNFSHSATSMSD S5 HS.




iii. What is the molecular formula of the compound, if the molecular weight is 73gmol ™
B5 Goymauler pewdsmbnbReata 73 gmol’ syl @5 Coeauien
CAPGIBY GSBTD wiTeH? :

. (30 Marks)
b)  Give [UPAC names for the following compounds.
Lisirompid Gaemsusetar [UPAC QuLiisenst H(LS.
OH
' O
(20 Marks)
c)  Give the major products of the following reactions.
eitauihld $robsmselsn LFSTar ellenentibimhl Hamen S5
Y\ -—>2de B
i alkaline KMnQy4
. - N c
iv. Q _____,.02 D
Vo N
(25 Marks)
d)  Draw all the possible resonance siructures of the following anion. '
Useumo seiternuefiig CUTmSsore Uflabsl L enDUiLiEensn  eUan)s.
CHy
=
)
N
(25 Marks)

Section — B (Answer at least 01 (one) of the following questions)
ugdH — B (Usmumd slemssalss Gopbas gaminlsgid i welsegs.)

03.

a) 1. Write the name of each of the following ionic compounds
Uateumd Suuefid Gomeasme! HelQaumamlargit CLILITHEMET 6(pSI%.
AlOH);, FeCl;, Ca3(POg),, MgilN,
it. Write the formula of the following compounds
Ulsiround Carjeneumeliall @B SIDHID.
Beryllium chloride, Lithium bromide, Aluminum carbonate wipnb Nitrous acid

9




b)

04,

il

ii.

iii.

11.

1.

Write the formula of the following ions
TRIRIHD SIS 6 GBI BIBEN6T SEDDHIH.

Ammonium, Carbonate, Phosphate wihpib Hydrogen sulphate
(36 Marks)

Explain the term Basic Physical Quantity and write down the name and the symbol
of each,

Stgliuent. QuenSs ®eefiLid sie@Id USH®S elenHGe. SIHHILE, @eliblaumm
Siglient Giendes seiisHarsid QUWT 1BmIDd Sigead Gouid  sedLsabhen
H(HS. -

Write the difference between a basic physical quantity and a derived physical
quantity ‘
Slgtient.  Guends  senllund wmmd  Blmewtnn’ L Ouends semiwib
Si@EuambmESmLuleomar lGHEUTFRIGmT (LSS,

Give the symbol, defining equation and the SI unit of the following derived physical
quantities.

Waiteugpld Pmiennn’L. Guengs sefurisealiar GUUIE, eIUDISE@GD  FDELTH
winih S ooy sdluieben Hhe.

VYolume / seaxeuaney, Concentration / Qapiiey, Force / sfiens,
Energy / a&4, Electric Potential / 18s& si0pHsid

(40 Marks)

Calculate the mass of AgNO; (Mol mass =170} present in 100 m{ of its 0.25 M
solution. .
025 M AgNO;  sengeder 100 ml s  sreiu®hd  AgNO;
(epsvdbaamussleniey = 170) Bear Hlanielmean sanibEs.
300 ml of 3.0 M NaCl is added to 200 ml of 4.0 M BaCl; solution. Calcutate the
concentration of Chloride ions in the resulting solution in mol dm,
30 M NaCl @« 300 ml gergr, 4.0 M BaCl, seraeier 200 ml o e
Garadstin’ Lgl. slmmabsarsale @SmTag( swasaiar Qs mol dm3
Bed wHenibnHs.

(24 Marks)

Briefly explain precipitation reactions and oxidation-reduction reactions giving
example of each reaction.

afipuyeids  SIEHWL, whznrd  UACLDHD-aNpsEa SHIEHD  SLusibes,
RRUCHUTRTIHGGID 2 SHTTEHiD FHHHEUDZEIT CPeUD F(HHEINTE alleTHGw.

Write the balanced equation for the oxidation of Fe(TI) to Fe(If} by Cr,O;” where
Cr;0+" is reduced to Cr'* in acidic medium.

Cr077  oapeowrs Fe(ll)  @edmips Fe(lll)  o_mamgd U AGwmm
EHTHHEIDETN  FoaGlau s’ L. SFFmuear  FWETUT oL eupSiE.  Baarurs
SIS 600 HahHe0 Cr,05" S4TH Cr* S5 HMDSSUIIBLD.

(30 Marks)

10




b)

i

if.

Calculate the concentration of nitric acid in mol dm™ in a sample of density 1.41 g
cm™ and 69% mass percent of nitric acid.
141 g cn’  sLisdHeowuyd, 69%  Helsy FHANBGHHBUD BTN
opsdfissden wiHfcumaiisd ST D obsHEE0msHE OFfma mol
dm” @60 sefllGs.
A sample of drinking water was found to contaminate with chloroform CHCls. The
level of contamination was 15ppm (by mass).
GignT  rAfGuwitaiied @GemmByrGLI, CHCl; ssopdpling s fuiiit sl
Ervg BTeg TGEUBSHHUILL BefTen  SieTa) 15ppm sy@d (Hewfiey FAulisd).
e Express this in percentage by mass

Asmear Halley Fpeldipp Faluied GeualiLIBEHSHIG.
e Calculate the molality of the chioroform in water sample

@i By wrefulsd @GemBrmGLiniies apeusoGaelenen (Molality) @eniis@s.

g (55 Marks)

Calcium nitrate decomposes to form caleium oxide, nitrogen dioxide and oxygen. When
2 0.01 mol sample of calcium nitrate is heated a gas is produced.

seodund  soESICIHE g ifleos  SiwLbS! @me0flb  Uengl (B, enHEFFFET
ol sl B, WhpD UAFH SSEUMDHD o mamsgdems. 0.01 mol seddund
mpSSCrhm wrdiflaw CenuGuhnid GuITs AIMLQEITET 2 [HauTabILIghI.

i

il.

Write down the balanced chemical reaction ,
BHSTHEEHADETEN  FIDSTEFLILICN L BrsTF FIOSILT_OL  STIDHID.
Calculate the mumber of moles of gas produced when this sample is completely
decomposed. .
Sibwrumeng  (WWHDTS  ITflenDUImL IHETT6D, o _(HeurdhsIUGD  suTweler  ciped
STERTETHENEBENUI  He0TGEHS. :
(Ca=40,N=14,0=16)
(15 Marks)

Section — B (Answer at least 01 (one) of the following questions)
ugd — B (fawuesd alombseied Gonbos! eminGaad el wisflH@®.)

0s.

a)

Consider the following reversible reaction
Ueraumn Send ST65H0S SHHTHID-

il.

Write down the mathematical expression for the equilibrium constant for the above
reactiont.

Gubapl | STHeHE 6, Fwhlame tomfiedlasbaen  EeRiGLnIETILILITL ML e1(pHI.
At 1 atm and 298 K, NOyg with an initial concentration of 1.00 mol dm™. If 3.3 x
10 percent decomposed into NO, and Oz, Calculate the equilibrium constant.

| atm womt 298 K @ NOyg G ayyibu Gepey 1.00 mol dn”  sy@ib.
Baev 3.3 % 107 sgaldsoras NOy wpmb Oy 46 Ufiers sl Slams -
aafl@n, FoBenso oTHalens &ellshEss.

11




b)

06.

b)

ifi. Discuss how an increase in pressure and temperature affect the above ethbnum

reaction.
SIpHED  OHDID Gestiupeneouiieo qg;u@m SRS, CuBapIE L FBesus
FHTHBHI 60 GT6UaMTI LITSGSGHD 6160 a1,

(40 Marks)

Identify the Bronsted acid, its conjugate base, the Bronsted base and its conjugate acid
in each of the following equations,

Leiraurpld QaIRaITEn FOHTUTL gegib, yenmeaLafel Sifeod, oHUID SiHeT ERenant
gpeold, UGTeedL eflell cpevid, Wpd SiBET Baem  Suieod  sALebEmn  Benb
HITERNE.

HNO; + H,0 — H,0" + NO3
CN™ 4+ H,0 - HCN + OH™
(20 Marks)

‘For the reaction, 2HIyy = Hy(g) + Iy, the equ111b11um concentrations for Hi, Hyg

and L are 3.53, 0.4789 and 0.4789 mol dm™ respectively.
2Hl(gy = Hagg) + 1oy aspid  gndamgdier, Hig), Hig wpmpid IZ(g) Sy LIRS &t
awme Gafiamst gpammpGu 3.53, 0.4789 whgue 0.4789 mol dm” sy@ib.
1. Write down the relationship between Kp and Kc
Kp wpmb Ko gpfuwampisadmiuleorar G iienut sipdis?

ii. Calculate the Kp for this dissociation reaction.
@iiflens srosdhdhore Kp Sear saulsEs.
(40 Marks)

1. Calculate the pH and pOH of 0.0071 mol dm* Ba(OH); solution.
0.0071 mol dm”® Ba(OH), seysedsi pH whpt pOH syfiuiamon safioes.
ii. The concentration of hydrochloric acid secreted by the stomach after a meal 1s about
1.2 = 107 mol dm™. Calculate the pH of the stomach acid.
SeSAne Une suibdgst sybeb nsturegGanfs  sifosda Grmhe
qm&-@aﬂgnu_l 12 % 107 mol dn™ @b, endpieysi o sien oufewsdar pH g
&N

(20 Marks)

A titration between 0.2 mol dm™ sodium hydroxide (NaOH) and 0.10 mol dm™ HCt
was carried out using phenolphthalein indicator as described below.

0.2 mol dm” Gemound mBCTI LG (NaOH) wmmns  0.10 mol dm™ HC
B wenppssent uflsoresr  Huby  FBmtlississt &y (psiefianeoullsd S
Sl Lenry SopGiemsiteminn’ L g,

20.00 ¢cm® NaOH solution was kept in the titration flask and added a drop of the
indicator. This was followed by the addition of HCI solution using a burette. The
experiment was carried out at 25 °C.

20.00 cm® NaOH senpseorang;, Bunfin oGoauianst ooubsiin § Iseaist 9
smie  1I8ammlimeSelt  CoHThalin L.  SFmer  CO&TL JhsH  osuelsnw  (Burette)
vweRsHA  HCl smeopsed  Ssfssrnn L& @rufCarsmen  oyenm 25 ‘C @
GLomGisreTemiL L g

12




1.

it.

Caleulate the volume of the hydrochloric acid (HCI) solution required to reach the
equivalence point or endpoint.
acBleneol i jeterl SHIEOEUHI (ptgall i jerTerieni SIFRTILOUSNGS GepemeuLLiTeT
maCmEBamils sl (HCH) sopseald saeaenamads Holbgs.
Sketch the variation in pH of the mixture in the titration flask with volume of the
hydrochloric acid (HCI) solution added (titration curve). Label the axis indicate pH
on the y-axis and the volume of hydrochloric acid (HCI) solution added on the x-
axis.
Gapsai L maGmeGamiis oo (HCl) somyseis semcsneil e, BuIllin s
GEoauigsT SramiuBh  seoamaiiar pH @ T0Y1g 1130 N1 ) 1% VG £ PG
(Mudiny  ewememul).  y—owdlenean  pH  stameyib, x—oiflenes  Gapdhslu L
moBrreGemfa  oufe  (HCH sepselsr e b SiFFHEH6T
LB S.

(40 Marks)

The solubility product of AgBris 3.3 x 10"
AgBr @er sempsper Qu@sHsd 3.3 X 107 sysi.

1.

11,

iii.

Calculate the [Ag'] in a saturated solution of AgBr.
AgBr Geh Bipounsmrssedsd [Ag'] Boed seflsds.
What will be the [Ag"] concentration when enough KBr is added to make the [Br'] =
0.50 mol dm™
[Br] = 0.50 mol dm” syb@asnons, Gursiora oite KBr GojdsiulL i
@ppeeouisy [Ag'] @6 Qedley WIBTH BHEEGH?
The solubility of Ag;CrO; at 25 °C is 8.0 x 10”° mol dm™. Calculate the solubility
product of Ag,CrO,. ‘
25 °C @ev AmCrO, @t senydlmar 8.0 % 10° mol dm™ gy, AgCrOy @ei
sOTHDET QUESEHEMS HIHGHSE.

(40 Marks)
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